/DVIRB

3RPLHV]F]HQLH S5RINiDG

7\J

7\ 7\ 7\
g -CI\NDQJ GZ % H -CI\WDQJ iz % P -CI\WDQJ iz % P
IHDUQIQJ ODINID &KiaG JU GRVQHFNL $UQRIG = JU GRVQHFNL $UQRIG =
ZRQD = 6-2 335 6-2 +,6 ),/2=0 6-2%10 $1*
7\ 7\ 7\
£
z -CI\WWQHP iz % P -CI\WWQHP iz % P -CI\WWQHP iz % P
= JU6]\PD ODUXV] = JU6]\PD ODUXV] = JU6]\PD ODUXV] =
N 6-2 35% / 6-275/ 1,0 6-23("75"L.0
1,(0 / 1,0
7\ 7\
[a)
8 -CI\NDQJ iz % PJ -CI\NDQJ iz % PJ
= U BRVQHFNL $UQRIG = U BRVQHFNL SUQRIG =
6-2 ./ $1* 6-2 " (7/
$1*
7\ 7\
z
I . .
= -CI\WWQHP iz % P -CI\WWQHP iz % P
a JU6]\PD ODUXV] = JU6]\PD ODUXV] =
ﬁ‘ 6-2. % & )=/ 6-2
L 1,(0 $70 )3 + %1 513/
1,(0
=
™
7\
o .
© -CIWUWRV 0z % PJU3XID
%DUEDUD = 6-2 -)+5 526
7N
—

-CI\NWRV 4Z % P
3IXID %DUEDUD = 6-
2 :)+:035 526




